
Verkada Inc. 405 E 4th Ave, San Mateo, CA 94401
sales@verkada.com

All specifications are subject to change without notice
© Copyright 2023 Verkada Inc. All rights reserved. 

Install Guide

ACC-MNT-ARM-1
Arm Mount

mailto:sales@verkada.com


Document

Document Details

Verkada Inc. 405 E 4th Ave, San Mateo, CA 94401
sales@verkada.com

All specifications are subject to change without notice
Copyright © Verkada Inc. All rights reserved. 

V1.0 (20240501)

(V1.0 first published 20240501)

2

mailto:sales@verkada.com


ACC-MNT-ARM-1

#8 Wall Screws (4 pcs)
Length: 1.5”  Drive: #2 Phillips

Closure Plug (1 pcs)
(Attached to mount)

Hex key (1 pcs)
3mm

M4 Machine Screws (4 pcs)
Length: 16mm  Drive: 3mm hex

Introduction

What’s in the box

What you’ll need

● A compatible Verkada product
● A #2 Phillips screwdriver or 

power drill with a #2 Phillips driver bit
● A 1/4" (6.35mm) drill bit for pilot holes
● A 1/2" (12.7mm) drill bit, or larger, for routing 

cable through wall

Verkada Inc. 405 E 4th Ave, San Mateo, CA 94401
sales@verkada.com

All specifications are subject to change without notice
Copyright © Verkada Inc. All rights reserved. 

Compatible products

For a list of compatible products, please visit: 
https://docs.verkada.com/docs/accessories
-overview.pdf 

3

#8 Wall Anchors (4 pcs)
Length: 1.5”  Drill Size: 1/4"

mailto:sales@verkada.com
https://docs.verkada.com/docs/accessories-overview.pdf
https://docs.verkada.com/docs/accessories-overview.pdf


Wiring

Verkada Inc. 405 E 4th Ave, San Mateo, CA 94401
sales@verkada.com

4

Installation

Wiring through a wall

Drill a ¼” hole for the Ethernet cable to 
feed through.

The mount can accept cable entry 
through the back.

Wiring through the opening

If wiring through the ¾” NPT* opening 
at the base, remove the closure plug.

*(USA) National pipe taper

All specifications are subject to change without notice
© Copyright 2023 Verkada Inc. All rights reserved. 

Attach a standard ¾” NPT conduit fitting.

mailto:sales@verkada.com


For Wall Mounting (drywall, plaster 
and wood paneling) 

Mark the 4 pilot hole locations and 
drill 1/4” pilot holes.

After drilling, clear dust and debris 
from hole. 

Mount by pressing the wall anchors 
into the pilot holes until flush.

With a #2 Phillips head screwdriver, 
use provided #8 wall screws to 
secure the Arm Mount against the 
wall.

Wall Mounting

Verkada Inc. 405 E 4th Ave, San Mateo, CA 94401
sales@verkada.com

5

Installation

All specifications are subject to change without notice
© Copyright 2023 Verkada Inc. All rights reserved. 

mailto:sales@verkada.com


Attach Arm Mount to hole pattern 1 of 
Corner Mount or Pole Mount using the 
included machine screws. 

To secure, tighten the machine screws 
using the provided 3mm Hex key.

Mounting with Pole or Corner Mount 1/2

Verkada Inc. 405 E 4th Ave, San Mateo, CA 94401
sales@verkada.com

6

Installation

All specifications are subject to change without notice
© Copyright 2023 Verkada Inc. All rights reserved. 

mailto:sales@verkada.com


Verkada Inc. 405 E 4th Ave, San Mateo, CA 94401
sales@verkada.com

7

Mounting with Pole or Corner Mount 2/2
Installation

Use the internal 1.5” NPT threads to 
screw a Pendant Cap onto the 
Arm Mount. 

After attaching the Verkada 
device to the mount, tighten the 
set screw with the provided 3mm 
Hex key. 

Please see additional install steps 
for the device you are mounting 
in its respective Install Guide.

All specifications are subject to change without notice
© Copyright 2023 Verkada Inc. All rights reserved. 

mailto:sales@verkada.com


Appendix

Support

Verkada Inc. 405 E 4th Ave, San Mateo, CA 94401
sales@verkada.com

All specifications are subject to change without notice
Copyright © Verkada Inc. All rights reserved. 

Thank you for purchasing this Verkada product. If for any reason 
you're experiencing issues or need assistance, please contact our 
24/7 Technical Support Team immediately.

Sincerely, 
The Verkada Team
verkada.com/support

8

mailto:sales@verkada.com
https://verkada.com/support

